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A ball is thrown upward with initial velocity
Vo=15m/s at angle of 30<= with the horizontal
the thrower stands near the top of a long hill
which slopes down ward at an angle of
20 <= .When does the ball strike the slope.
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Past Examination 2002.Paper2

(d)(111)A radar speed trap 1s placed 15m from the

side of a road,1ts beam making an angle of 15<= with
the road.If the transmitting aerial has a horizontal
width of 20cm and the wavelength used i1s 3cm,over
what distance along the road can vehicles be

etecte

Single-slit diffraction dsin@=A -

(Answer)diffraction angle
O=sin-1(A/d)=sin-1(0.03/0.2)=8.63 <
e 0x=15/tan(15+8.63)=34.3m,

e oy=15/tan(15-8.64)=134.4m ROAD

o Xy=0y-0x=134.4-34.3=100m W
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